w"nn"7'own2,0p"a.7"oa

Come, hear; 177170 ' says — RN 77T 920 yRw NN

OVERVIEW

The X3 attempts to prove that n"9m17 is 217 from the ruling of *"3, who argues
with the 1127. Seemingly this is no proof, for the 7127 argue and maintains that he is
7v0." Our Moo resolves this issue.

mooIn responds to an anticipated difficulty:2

$TAYNYN NYYY NHAT DIVN KON D9 ND 1929 1929N)
And even the 1127 who maintain that the 75977 2¥2 is 9 from paying rent, they
do not argue that n"?m1r is Mo (for they agree with > that 1"9Mr is 2°n), but
rather the reason the 127 maintain that the 7577 %¥2 is 29 is only because of the
X720 mentioned previously in the X n3, that the house is indentured to the attic;
therefore the 7977 ¥ has the special dispensation to live there rent free; however
in a case of 17°2r1 782 177 the 1120 will agree (with °"9) that 1"9mar is 2.

SUMMARY
We can maintain 11"9137 is 271 and nevertheless the 71775y va lives rent free since
TAVNWH 75Y% RN,

THINKING IT OVER

In the previous MooIN the same issue arose and NMdOIN responded that the 7127 do
not argue with 0 "™ and he is 2»n only because XN X9°pn °% N3 NR (the
explanation which the X3 gave why the o101 are 211). Why was it necessary
for MO to respond to the same question and give the same type of answer (that
the oon agree with >, but here it is 7avnwn 7592 ’n*2), we could know this
from the previous mooN?!°

' See previous ¥nyv i1"7 '010 (in the ‘Overview’).

* See ‘Overview’.

? What is the difference (regarding n">mir) whether we answer X1°0° X9°pi1 *2 N3 DX, or whether we answer Xna
TaYNWwN 70Y9?
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